3 (Sem-5)HISM 1

‘ 2018

HISTORY
( Major )

Paper : 5-1
(India under the East India Company )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer in one word or in one sentence : 1x7=7

9GB! % 31 GB1 TS Tag f

(a) Who was the successor of Alivardi Khan
the Nawab of Bengal?
IR TR Yform 7 TefR @
IR ? ,\7-.- -

&

(b) Which Nawab of Bengal shifted the
capital from Murshidabad to Moonghyr?
I 11 Yewater qrai TR fn R
TAREA (19 H[f3e 2
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(2) - (3)

(c) During which Governor-General’s L 3 (b)) Write any two characters of the
administration  were the Zaminders Ryotwari Settlement.
relifzved from th.eir polic? fiutie§ and in MORA T B @ ‘ﬁ’kf R 1 @
their place police administration was A
placed in the hands of British officials? AL
S SRS~ TS SR () Mention any two results of the 4th
COSTAT SSCGR] “IfeT59 CE o1 SRS Anglo-Mysore War.
O 31X “ffes PP Ibeceed To e DR RI1-TRF Ta R P 51 e o |
B : ’ (d) Write two significances of the Treaty of
(d) Who was the ruler of Punjub during the Salbai, 1782.
period of the 2nd Anglo-Sikh War? f ol
S 2a-Fy @ T sy WP @H >R BT BeR1R BRES 151 Cafey e |
wifeet 2 . . 3. Write short notes on any three of the
(e} Why did the Khonds Revolt against the following : 5x3=15
British in 18467 ©oq R e ot S9[TS By (BIRT foHT :
S8y be (MR Jowd Reem fon Rearg (@) Political condition of Bengal on the eve
Pidfeet 2 of the Battle of Plassey
(f/,. 'Name the tribes of Chota Nagpur who e BRI SRS T
revolted against the British in 1831, : S Tas
Srrod 076 IR feem Rear w1 ot SR ST
SISO A 3 wifye 9 (b) The Treaty of Allahabad, 1765
() Who was Mangal Pandey? 39%¢ 5 eI pfe
5 A0y (I Hfee 2 () The Treaty of Bassein, 1802
2. Answer briefly : 2x4=8 oY B] @f@g{“@
Hfg Teq fir (d) Maharaja Ranjit Singh
(a) Mention the year and the parties TR S iz
between who;n Lhe 3rd Battle of c ¥ (e) Doctrine of Lapse
Panipath was fought.
O
AR PO 7 I IR T F @ 570 A5 A
c2fee 2 : )
( Continued ) A9/213 ( Turn Over '
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A

ba ]

4. Answer any three of the following : 10x3=30
wers 1 et foibl 2 Tas forey
(a) What was the impact of Dual System of
administration in Bengal?
FHCTTS (70 P /TR Fol [ wifze o

(b) What was the Subsidiary Alliance? How
far did the expansion of British Empire
in India become possible through this

system?
Tl A & wifkme @3 Wew @
oo Jivr Hren @[ [ siga taftw 0

{c) What were the causes of the downfall of
the Marathas?

TP o FRPE F =fee 2
(d) How did the Revenue Policy of the
British led to the rural indebtedness in

India?
e TweAeE R sHes A
Yaerperd 2 Ffafee 2

(e What do you understand by
commercialization of agriculture under
the British? What was its impact on
Indian society and economy?

e aS FRI e qw B 3w
TR Foe SRR WS HE wefifes & oo@
“ffee 2

{f) Discuss the nature and result of the

Mutiny of 1857.

Sred 59 RCaEd UFTS e wews SieEsa

91|
* % %k
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{ 2018

HISTORY
( Major )
Paper : 5.3
[ History of Europe (1789-1870) ]
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

Answer all questions

1. Answer the following questions in one word or
in one sentence each : TR7=7

frafefRe eppTged AfSdR Ted bt @ 97 @bl TS
fiat :

(a) “Man are born free but everywhere he is
in chains.” Who said this?

‘Uz wECe WAM (IR Wl e FReCE
CFECS (OSETT PRI I AR AT 17 FIEH
I (e ?

(b) Name the leader of the French Revolution
who advocated the theory of Separation
of Powers of the Government.

T4 Red Grore 99 fo {1 & o7
IO R 13 O T |

A9/215 ( Tum Qver )



(2) Ee ; (3)

(c) In which year was the Battle of Waterloo () Name four countries of Europe where

fought? repercussions of the French Revolution
m,ﬁ @ 570 T C2fde 2 . of 1848 was seen.
(d) Name the Russian Czar who took the i R I, 1 Shay
initiative in the formation of the Holy Fq0! Ref@ 4o/ *[—1 G Coifee |
Allancs: _ (d) Mention any two causes of the failure of
g A T AR ST R AR SRS the Frankfurt Parliament.
T o CFRCETD TS 99 @R R @I 11 FRe
(e) Who founded the Young Italy’? &

TR WA @A A e 2
: . - 3. Write short notes on any three of the
Name the Russian Czar T :
0 e who/said rkey following : S5Sx3=15

was the Sickman of Europe’,
- Tl R e ot e /e vy G for

TIFE LA F M TR ot IR ey ?
G (e ? (@) Congress of Verona, 1822

(9) In which year was the Battle of Sedan (ST AR, SR

fought?
i (b) Louis XVIII
TR I& (T 57 (2R 2 Sieioh
2. Answer the following quf;;ﬁOHS in brief : 2x4=8 (c) Results of February Revolution of 1848
’aﬂlafla\ﬂ ﬁﬂ’fﬂ-’ﬁ Eﬂiﬁ @@q .
' St8b B4 (FIAA! R Folrest

(@) What were the principles that governed

the Vienna Settlement? (d) Cavour
(FACHRD! NS 893S et B ﬁw : (CI3]
2B AR T 0 v (e) Battle of Sadowa
(b) Why did the Holy Alliance fai]? (CORE Ta
*Ifiq pf& R 314 ozl 9 ¢ :
A9/215 ( Turn Over )
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(4) 4

¥

4. Answer any three of the following questions :

10x3=30
e & e fofit epm Teq fram -
(a) How did the philosophers contribute to
the outbreak of the Revolution in France
in 17897
FPS Savd e Red @R A WA
(RCTC = CraiEfRe 2
(b) What was the Continental System? How
did the invasion of Russia prove
disastrous for Napoleon?
Ree AWM & e @wenfr il
e 73 (997 oo e 2 ‘
() What were the provisions of the Congress
of Vienna? Do you think that the Vienna _
Congress ignored the claims of
nationality in Europe?
e wems wweme & e @3 wwex
woReM SRYAN of% Ry wits @ wikE
4T A 2

(d) What do you understand by the
‘Metternich System’ Why did it fail?

AORR Tl T [ gen 2 2 Ry a9 20912
(e) Discuss the importance of the Crimean

War.

& 39 @99 SCemD 4 |

(f) Give an account of the causes of the
downfall of Napoleon III.
PO AT o FRAERA 9B faae
il

* ok ok
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HISTORY
( Major )

Paper : 5.4

( History of Science and Technology
in Pre-Colonial India )

Full Marks : 60
Time : 3 hours
The figures in the margin indicate full marks
i for the questions
Answer either in English or in Assamese

Answer all questions

1. Answer the following questions in one word or
in one sentence : 1x7=7

fAafeie PR @bt 37 @bl TS Ted
fa) Name a tool used in the Palaeolithic Age.
G Y5O G A1 b gl A fef< |

() What was the primary feature of the
Neolithic Age?

LW Yo 2y (<R R e 2
] A9/216 ( Turn Over )



(2) (3)

(c) The Harappan Culture is characterized (c) Name any two astronomers of ancieﬁt

by the extensive use of which metal? India.
(O] MTP9 929 J9TE =981 KGR (I &b Sed R @IeT o i = fors |
TR HIfRe ? (d) Who was Varahamihira?
(d) Which period witnessed the first use of [T @ iR 2
iron technology? Ao fas ) . ;
- write short notes on any three of the
CFFCH oS (o1l 4199 e 9= 91 ol following : 5x3=15
TR ? oot fim R e Fofiem e v (o ot -
(e} Who was Susruta? a) Mesolithic technology
P (T AT ? T PR ]
() Who was Bhaskara I ? : *  (b) Brahmagupta
23T ST (T W= ? 1 ; T
G d
(g) What is the Persian Wheel? [wiimnom e
“orafoaTa <% o =7 ; £ e
(d) Microlith
2. Answer the following questions in brief : 2x4=8 T G
FafiRe eppree vyt Ted f - (e) Noria
(a) Name any two new technologies of the GaT
Later Vedic Period.
s 4. Answer any three of the following questions :
CrRE 1 A 3 TR R @A Bl T 10x3=30
e AT forsi | frafete & cre fofivt aq Tae fi
(b) Write a note on NPBW (Northern Polished (@) What were the technological advance-
Black Ware). : E ments during the Mesolithic period?
I TR, % SRR [y «ft Bt forar | TR TS AYST Tarsifs (oo wifze 2
' " n9/216 ( Turn Over )
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(4)

(b) Discuss how the use of iron technology
revolutionized agriculture.

1l 2RfERE IREE FR oRae g Ko
o1l FIRCA, SCADAT B | ‘

(c) Examine the advances made in the field
of mathematics and astronomy in
ancient India.

oft SRwe e WF  GufeRem  f[ATme
R R wbfRe, A3 340 |

(d) Estimate the contributions of
Aryabhatta.
SRS S R 31 |

() What were the technological advances
made in the agro-industries in medieval

India?
TR OO JRiCeE TCMSHR  CFAO
@R 2R e CafE 2

(f) The textile industry was revolutionized in
medieval India. Elucidate.

TR SASd @ SrIrERe @9 Qe P
CafRet | o 9

L

29—6000/216 3 (Sem-5) HIS M 4



3 (Sem-5) HISM 5
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HISTORY
( Major )
Paper : 5.5
[ History of Great Britain (1485-1820) ]
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

Answer all questions

1. Answer the following questions in one word or
in one sentence each : 1x7=T7

e ez dfetR Ter @bt = 7 @B I
g

(a) What was the Court of Star Chamber?
R T TS & e 2

(b) Who was Thomas Wolsey?
{15 TS (T Wfe 2

(c/) Who was known as the ‘Queen of the
Seas’ and after which event?

g 90 i e rEE @ e & HaR
fofmg #@1 2
A9/217 ( Turn Over )



(2) {/3%)

(d) Who founded the Bank of England? g . (d) Mention any two effects of the American
AN @ @A ARSS F3fRe 2 War of Independence on England.
(e) What was ‘Morton’s Fork’? gﬁa SRS Fael 999 R @A 101 Z°R
) RSN
ol IR & e 2
) In whit;h year was England united with 3. Write short notes on any three of the
Irelands following : 5x3=15
@ PO IEY UE SEREST (A PrafRerz i @i fForR eiws v GrT e -
a2 2
- (a) Religious policy of Queen Elizabeth 1
(g) Which event in England, led to an T dew e 4T e
increase in proletariat :
pie poverty?p lats, unemployment (b) Oliver Cromwell
3EES (P ToT1R 2R RIS R ! i X
w1 REE B FRifset 2 (c) Bill of Rights (1689)
. ; i R (surd)
2. Answer the following questions in brief : 2x4=8 (d) The Whigs and the Tories
faafeil® oppgza oY0F ved famr . 235 WP BT
(@) What do you understand by the (e) Economic effects of Industrial Revolution
‘Reformation Movement’? Sl Red] weftafes sawe
e SCwE g [ e 2
(b) What was the Long Parliament? What 4. Answer any three of the following questions :
were its aims? I ﬁ Gl .F_ﬁ,m o h ﬁm 10x3=30
N K 5
kil 7
R siom & e ETIc] TRPTR & w1fee ? (a) Under what circumstances was

(c) How did William III try to bring about reformation brought about in England,
during the reign of Henry-VIII?

economic reforms in England?
porm TR M AeeT St wER- . - T (TR qegere ¢ REee REYe
e S foifafee 2 AR o1 C2fed 2

A9/217 ( Continued ) A9/217 ( Turn Over )



(4)

(b) “Mary Tudor’s reign was the time of =
Catholic Reaction.” Elaborate.
“oRl OSSR rEeEeER wkh @v ke
ST T 1”7 <==rE ey |

(¢) “James-I’s reign is called one of long
quarrel between the King and the
Parliament.” Elucidate.

VU (ST NPT T4 S HOTE qreq T
RS ST (T 24 1” R <o |

(d) “The kingship restored in 1660 differed
from the kingship by Divine Right of
James-I and Charles-I and from the
personnel rule of the Tudors.” Explain.
Sevo DTS N9 oAfSE (ZEI ey A9Y (wTs
MARARN G S IR A B LR o ee—
&S *pireis IR e 177 w54 |

(e) What were the important Acts passed by
William III? How far was he successful in
removing the evils of Stuart absolutism?
POR SR A 71 apey P
S ? FA6TR e SO 73eaeTs
(98 A s Cafie 9

(1 “The reign of the first two Georges was
very significant in the Growth of Cabinet
System of Government in England.”
Examine the Veracity of thig statement.
U PRI T PR 25 wefg QeI
DEEAE Zr%ﬂ @ Fas W‘% @Wvlc{ [ gj§
[ ] feraeter 3547 |

* %
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HISTORY
( Major )

Paper : 5.6
[ History of China (1839-1949) ]

Full Marks : 60
Time : 3 hours
The figures in the margin indicate full marks
for the questions
Answer either in English or in Assamese

Answer all questions

1. Answer the following questions in one word or
in one sentence : 1x7=7

were il ez Te bt *% 31 @bt 3RS i

(a) How many ports of China were opened
for the foreigiiers after the Opium War?

e T PiRe Be @2 @ Reeree
@ F IR cafem 2

(b) What do you understand by ‘Kowtow'?
FTOG’ Jfeicet T 3w 9

A9/218 ( Turn Over )



(2)

(¢) Which treaty concluded the Second
Opium War?

@ pieq oo fRo S Tad P 24 2

(d) Which Western countries supported the
Manchu rulers in crushing the Taiping

Rebellion?
5i3fR R W CFaS @ @H PO (e
% PR A (L 2

(e) When and between whom was the Treaty
of Li-Lovonov concluded?

@fen 9 I TR TS fi-@TeTS e
Frmfe (22 ?

() Who was the leader of the Kuomintang
Party?
ISR 7ol (el (P S1fRe 2

(g) Name the place where the Chinese
Communist Party was founded in 1921.

3533 TS (P 912S TAeeE IR v s
91 C2fRe 2

2. Answer the following questions in brief : 2x4=8

were frgl epPTeRs B0 Teq fi

(a) Trace two significant reasons for the
outbreak of the First Opium War.

A9 SR Tad @ e 7o @y s
ferar |

A9/218 ( Continued )

(3)

(b) What was the Boxer Protocol?
@ 4°5°F & wfeet 2

(c) What were the ‘three principles’ of
Dr. Sun Yat-sen?
Tlo B (§R-C59 ‘a7’ 1% = 2

(d) Who founded the ‘Red Army’ and what
were its objectives?

‘@e =i @A, 7 Srmen e SfRfRe 2

. Write short notes on any three of the

following : 5x3=15
wore fral 7 e fofbrR o oy G s -

(a) Treaty of Nanking, 1842
Sv83 B4 FIR 3

(b) Significance of the Taiping Rebellion
BiPR Rcared wieeR(
(c) Yuan Shikai
[ b 92
(d) Chiang Kai-shek
foR IR-03
(e) Mao Tse-tung
e (@5

A9/218 ( Turn Over)



(4)

4. Answer any three of the following questions :

10x3=30
werd i e fSRe R Ter fraw -

(a) Discuss the factors that led to the
opening of China. Was opium a crucial

factor?

PR FRFE A Beeeia Rt e o[
o9 2Py CRfRE, SICEAl T | GR CFAS Wify
3 GG FAP SRETA ?

{b) Trace the results of the Taiping Rebellion
and discuss the causes of its failure.

R R weermz M W uR @
ficurzd Rieeror FAPRRE S T4 |

(c) Discuss the causes and consequences of
the Boxer Uprising.
I TPIAFT PR HE Ferpe] SCeADAl 347 | "

(d) Bring out the significance of the
Revolution of 1911 in the history of
China. To what extent was it successful?
B FGIe 355> 59 Rz wieon Teay 9|
2 e e STee cafee 2

(e) Assess the contribution of Dr. Sun
Yat-sen to the political history of China.
BerR Ao XfSRPIA To T GIR-C6T9
Tfq WA 4 |

() Review the history of the Communist
Party of China from 1921 to 1949.
553 B9 791 S58% B(e BTN Wﬁ'@ VG
3fS2r AR 9 |

* & &
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